PACIIMCAHUE 3AHATUN

Ha nepuox ¢ 25 mo 29 cenrsadops 2023r.

II-K

YTBEPXJIAIO

HagannrHnKa BOGHHOTO yqe6H0ro

uentpa npu Antl' TY

A.C. Boponun
"29" _amrycra 2023r.

Ne mapsbl | 1] 11 v
Henn | oo TpeHaxu
Hezen 1 uac 2 yac 3uac__ |  4uac 5uyac__ | 6uac Juac |  8uac 9 yac
CII M2,P5 (PXB3) M1,12,P1 (BAT) M1,12,P1 (BAT) ITons. Utoros
1A-21 T16-1x T5-1r T5-2mp
ayn.402, np.35 | aym.404,mp.35 ayn.203, mp. 14 ayn.203, mp. 14,13,11 ayn.405,np.35
CII M2, 111, P3 (BTom) ML, J1 (YBTBT) MLAL(YBTBT) | Iloxs. Utoros
é = 1B-21 T10-1n T9-2np T9-2 CI1
= é- ayna. 300,mp.22 ayn.405, mp.30 JIBTBT, np.22,23,25 ayn. 300,mp.22 | ayn.300,mp.22
é = c MI1,/11 (YBTBT) PR M2,/11,P3 (BToror) Ioxs. Utoros
¢ z| 2B-21 T9-211p T9-2CTT T10-1 1
) 8 ayn. 302,mp.25 JIBTBT, np.20,21,23 ayn. 303,mp.20 ayn.405, np.30 ayn.302,mp.25
g Vo) M3,P3 (OrsIl) M3,P3 (Orsll) | M3,P3 (Orull) | M3,P1 (OBY) MI1,J11 (YBTBT) M1,/11 (YBTBT] Iloxs. UToros
= X 1CU-21 T14-2n T15-1n T15-1CII T2-2mp T3-21p T3-2 CIT
ayn.110, mp. 32 ayn.110, mp. 32 | ayn.110, np. 32 | ayn.402, np.35 ayn.308, nmp.23 ayn.308, np.23 | ayn.308, mp.23
CIl M3,P5 (YIIMB)| M3.,P4 (BIIP) | M3,P3 (Orull) | M3,P3 (Orull) | M3,P2 (CtpIl) | M3,P2 (CtpIl) | M3,P1 (OBY) | Iloas. Uroros
111C-21 T27-1n T19-1n T15-1n T15-1CII T10-2mp T10-2CI1 T2-2n
ayn.102, np.33 | ayn.102, up.34 | ayn.102, np.34 | ayn. 102, np.33 | ayn.102, np.33 | 1., p.33,32 L., 11p.33 ayn. 102, p.33 | ayn.102, np.33
M2, 12, P1 (ATO) M2, J12, P1 (ATO)|M2, /11, P3 (BTon) M2, 11, P3 (BTom) M2, 11, P1 (O6mTakr) IToxs. Utoros
1T-20 T3-1n T3-1CII T12-1CI1 T13-1n T5-1n
< -3 ay.200, mp.11 ay.200, mip.11 | ayx.405, mip.30 ayn.405, mip.30 ayn.405, nip.40 ayn.203, np.14
=~ Lg CII M1, 12 (OBBTBT) M1, 113 (PBTBT) M1, 13 (PBTBT) | IToxs. Utoros
g_ = 2B-20 T9-2np T4-1r T4-1CII
E 8 ayn.402, mp.35 JIBTBT, np. 21,20,22 JIBTBT, np.22 ayn.300, mp.22 | ayn.402,mp.35
R o M1, J12 (3PBTBT) M1, 12 (9PBTBT) M1, JI1 (YBTBT) M1, 11 (VBTBT) | Tloxs. Utoros
h 1CH-20 T2-2r T2-2CI1 T16-1T1 T16-1 CIT
ayn. 302, mp.25 ayn. 302,mp.25 JIGTBT, np.23 ayn.308, mp.23 | aym.109, np.34
M2, 12, P1 (ATO) M2, J12, P1(ATO) |[M2, /11, P3 (BTon) M2, 11, P3 (BTom) M2, 11, P1 (O6mTakr) IToxs. Utoros
2T-20 T3-1n T3-1CII T12-1CI1 T13-1n T5-1n
g_ ayn.200, p.12 ayn.200, p.12 | ayn.405, np.30 ayn.405, p.30 ayn. 405, mp.40 ayn.202, mp.13
< kg M1, 12 (OBBTBT) M1, 113 (PBTBT) M1, 113 (PBTBT) M3, P4 (BIIP) | Iloags. Utoros
3 = 11-20 T8-2mp T3-1r T3-1CII T20-1n
8 § JIBTBT, np.21,22,23 ayn.300, mp.22 ayn.300, np.22 | ayn.400, np.34 | ayn.110,np.40
~ M1, 12 (OPBTBT) M1, JI2 (QPBETBT) M1, 11 (YBTBT) M1, 1 (VBTBT) | Iloxs. Utoros
4l 2CH-20 T2-2r T2-2CTI T16-1 1 T16-1CTI
ayn.302, np.25 ayn.302, mp.25 JIBTBT, np.20 aym. 303.1up.20 | ayn.109, np.34




M2,/11,P5 (PXB3)

M1,/12,P1 (DAT)

M1,[12,P1 (DAT)

Ilons. Utoros

1T-21 T17-2 mp T5-1r T5-2mp
ayn. 404, np.12,40 ayn.203, np.14 ayn.203, mp.14,13,11 ayn.200, np.12
M3, P4 (BIIP) M2, 11, P1 (O6mTaxkr) M2,J11,P1(O6mTaKT) | M2JR.PLOYAIIMO) M2, 2, PL (OYHIIALIMO) ITons. MToros
1A-20 T21-C T6-1n T6-1CII T2-2CII T3-1n
ayn.400, p.34 ayn.405, np.40 ayn.405, np.40 | ayn.202, np.12 ayn.202, np.12 ayn.202, mp.13
ch M2, 12 (TTO) M2, 12 (TTO) M3, P4 (BIIP) M1, 12 (OBBTBT) [Toxs. Utoros
_ 2]  1B-20 T1-1CII T1-2n T19-1n T9-2mp
o kg ayn.300, mp.22 | ayn.409, nmp.31 ayn.409, np.31 ayn.400, np.34 JIBTBT, np.21,22,20 ayn.300, mp.22
g [ M1, 12 (OBBTBT) CcI M1, J13 (PBTBT) M3, P4 (BIIP) | Iloxms. Utoros
= = 2U-20 T8-2mp T3-Ir T20-1n
- JIBTBT, np.21,22,25 ayn.308,mp.23 ayz. 300, mp.22 ayn.400, mp.34 | ayn.308,mup.23
ﬁ CIl M1, 1 (YBTBT) M1, A1 (YBTBT) M1, 12 (OPBTBT) Mong. Utoros
3CHU-20 T16-11 T16-1 CIT T2-2r
ayn.405, nmp.32 JIBTBT, np.23 ayn.308, mp.23 ayn. 302, np.25 ayn.405, np.32
ML A1 (YBTBT) MI1,11 M3,P1 (OBY) M3,P2 (Crpll) | M3,P2 (Crpll) | M3,P3 (Orull) | Iloxs. Utoros
2CU-21 T3-1r1p T3-1CII T3-1n T10-2CII T10-3mp T15-1CIT
ayn. 308, np.20 ayn. 308,mp.20 ayn. 402, np.35 1., np. 35 ., up. 35,34 | aya. 109,np.35 | ayn.402, np.35
M1, P2 (ITOuBII) | M1, P2 (ITOuBII) M1, P2 (ITOuBII) M1, P2 (ITOuBIT) Ilons. Utoros
1I11C-20 T15-1n T15-1 CII T15-2mp T15-2mp
ayn.102, mp.33 | ayn.102, mp.33 ayn.102, mp.33,32 ayn. 102, mp.33 ayn.102, mp.33
M1,/12,P1 (BAT) M1,/12,P1 (DAT) M1,12,P1 (BAT) [Toxs. Utoros
= 2T-21 T5-3r T5-4np T5-4CI1
Cé Lg- ayn.203, np.14 ayn.203, mp.14,13,11 ayn.203, np.14 ayn.203, np.14
= R M2,/11,P5 (PXB3) | M2,01,P3 (BTon) | M2,J11,P3 (BTom) | M2,J11,P3 (BTom) M1, 11 (YBTBT) Tlons. Utoros
= = 1n-21 T17-2 CIT T12-1 mp T12-1 mp T12-1 CIT TI1-2r
= 8 ayna. 404,mp.35 | ayn.405, mp.30,40 | ayn.405, np.30 | ayn.405, np.30 JIBTBT, np.23 ayn.308, mp.23
= a cl M3,P3 (Orsll) M1,11 (YBTBT) M3,P2 (CtpIl) | M3,P2 (Ctpll) M3,P1 (OBY) Iongs. Utoros
a1 3CHU-21 T15-2rp T4-1r T10-2mp T10-2 CII T3-1n
ayn.109, np.34 | ayn.109,mp. 34 JIBTBT, np.25 1., np.34,35 ., np.34 ayn.402, nmp.34 ayn.109, np.34

HavanbHuk yueOHO yacTu - 3amecTuTenb HayaabHuka BYT1]

A. T'ypos




